SPECIFICATION FOR SPARE PARTS LIST

&

(SPA-02)

AIR HOSE ADAPTOR TIRE ADAPTOR AIR HOSE ADAPTOR M5x0.45 1/8" AIR HOSE ADAPTOR ADAPTOR M5x0.45-1/8"
M5x0.45,1/4"x19

%«(
g

SPA-06) (SPA-07) (SPA-00) SPA-10
ADAPTOR 1/8"x1/8" ADAPTOR 1/8"x1/4" 1/8" QUICK RELEASE QUICK RELEASE PRESSURE REGULATOR
ADAPTOR ADAPTOR M5x0.45 1/8"-1/8"
~
\J
ED SPB-02 SPB-03

WRENCH WRENCH WRENCH



